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(@) (i) Explain whatis meant by the term ‘redundancy’.

(i) Outline steps which could be used by a leisure organisation when staff are to be made
redundant.

....................................................................................................................................... [4]

(b) Identify and explain two reasons why GOactive might need to recruit staff.
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(c) (i) Using leisure organisations that you have studied or are familiar with, suggest a different
job role suitable for each of the following types of employment. [4]

Type of Employment Job Role

Part-time

Seasonal

Voluntary

Self-employed

(i) Fortwo of the types of employment given in part (c)(i), assess the benefits and limitations
of that type of employment for the employees of leisure organisations.

[Total: 24]
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2 (a) The economy is one external issue which could affect human resource planning at
GOactive.

Discuss how the economy at both a local and national level might affect human resource
planning at GOactive.
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(b) One of the recommendations to come out of the meeting between GOactive and the head of
Leisure Services was that GOactive should adopt a formal organisational structure.

Assess the advantages and disadvantages of different types of organisational structure,
making a recommendation as to which type GOactive should adopt.

[Total: 24]
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3 GOactive will need to recruit and select a large number of staff in the near future.

(a) Discuss the extent to which the use of different recruitment and selection documentation will
help GOactive appoint suitable staff.

© OCR 2008



7

(b) Outline a process that could be followed in order to shortlist applicants for interview for the
position of senior coach/team leader at GOactive.

(c) GOactive plans to hold group interviews for many of the advertised positions. Discuss the
benefits of group interviews for:

. GOactive;
» the applicants.
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[Total: 28]
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(a) Having invested in her own future, Emma is keen that future employees of GOactive have
access to professional training and development opportunities as part of their conditions of
employment.

(i) State two methods GOactive could use to train employees.

PP [2]

(i) Evaluate the importance of training and development to leisure organisations such as
GOactive.
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(b) Richard is still concerned about the high levels of staff turnover and absenteeism.

(i)

(i)

© OCR 2008

State two reasons why job enrichment may not be successful in motivating staff in
leisure organisations.

Discuss the benefits and limitations of one other motivational approach which GOactive
might introduce to help reduce staff turnover and absenteeism.

[Total: 24]
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If you use these lined pages you must write the question number next to your answer.
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